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[bookmark: _Ref129681832]In RAN1 #86bis meeting, the following conclusion/agreements for reselection counter were drawn:
Conclusion:
· For clarification of C_resel, FFS till next meeting
Agreements:
· …
· FFS the following aspects till the next meeting
· Scale the SL_RESOURCE_RESELECTION_COUNTER to 2 (for 50ms period) or 5 (for 20 ms period)
· …
In this contribution, we further discuss the issues related to UE reselection counter. 
Discussion and simulation results
The current agreement on the sensing reselection counter is
The value is uniformly randomly selected within a range (which is independent of the TB arrivals) between 5 and 15 
To understand the impact of scaling the reselection counter with an integer factor, we performed system level simulations. The detailed simulation parameters are provided in the Appendix. The results corresponding to highway 70km/h scenario are shown in Figure 1 and Figure 2. 
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[bookmark: _Ref465838433]Figure 1: System level PRR performance for highway 70km/h
As seen in Figure 1, scaling the reselection counter degrades system PRR performance for highway 70km/h scenario. 
Observation 1: Scaling the reselection counter degrades system PRR performance for highway 70km/h scenario. 
We also examined the performance of consecutive packet losses between any Tx vehicle and Rx vehicle pair in this scenario when reselection counters are scaled and not scaled. The results are shown in Figure 2 below.
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[bookmark: _Ref465838519]Figure 2: Continuous packet lost counts for highway 70km/h with counter  [50, 150]
In the histogram of Figure 2, the X axis denotes the number of consecutive packet losses between a particular vehicle pair (within communication range), and Y axis the portion of UEs that experiences “n” consecutive packet losses. It can be observed that there are a number of UEs that experience large number of consecutive packet losses, which is not desirable for road safety applications. 
Observation 2: Scaling the counter would result in a number of UEs that experience large number of consecutive packet losses, which is not desirable for road safety applications. 
Based on the observations made, we made the following proposal:
Proposal 1: Keep the current SL_RESOURCE_RESELECTION_COUNTER and no scaling operation is applied.
Conclusions
In this contribution, we discussed the issue reselection counter scaling. The following observations and proposal are made:
Observation 1: Scaling the reselection counter degrades system PRR performance for highway 70km/h scenario. 
Observation 2: Scaling the counter would result in a number of UEs that experience large number of consecutive packet losses, which is not desirable for road safety applications. 
Proposal 1: Keep the current SL_RESOURCE_RESELECTION_COUNTER and no scaling operation is applied.

Appendix
The assumptions are as follows. Highway 70km/h scenario is simulated with vehicles having 200ms message periodicity. Each figure is plotted with 4 drops and each with 30 second simulation time. A 10MHz channel is considered with non-adjacent SA and data transmission. Four sub-channels are configured with each occupying 10 RBs and the corresponding PSCCH resource pool occupies 8 RBs. A power backoff of 1dB was assumed, i.e., transmit power was set to 22dBm. Power offset of 3dB is considered for PSCCH. For 190-byte and 300-byte messages, 10 RB and 15 RB resource allocations are allocated, respectively. No HARQ retransmission combining is applied.
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